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| Directions: Choose

| the number of the answer (1), (2), (3), or (4) that best completes the sentence. |
| Then mark your answer on the answer sheet. |

The board agreed to ---—----—-— two committees to examine the proposals.

1) distinguish 2) generate 3) establish 4) attribute

The Red Cross organized the ------—— of food and clothing in the disaster area.

1) distribution 2) application 3) integration 4) implementation
A high --—neem- of the products tested were found to contain harmful chemicals.

1) contribution 2 proportion 3) dimension 4) resolution

The slight difference in the way men and women are affected by the drug is not really ------- —-.

1) intrinsic 2) contrary 3) predominant 4) significant
The schedule isn’t final, but we don’t ----—-—- many changes.

1) estimale 2) anticipate 3) conduct 4) allocate
They ——-—- principles of international law to claim ownership of the sunken ship.

1) invoked 2) promoted 3) induced 4) derived
The program allows learners to ------—- -- their own interests as well as do their school work.
1) attain 2) retain 3) display 4) pursue
Continued economic growth is a danger to the environmental —----—- of the planet.

|) assurance 2) stability 3) convention 4) conformity
During the last onc hundred years, ~--------- every aspect of life has been westernized.

1) conversely 2) primarily 3} virtually 4) redundantly
U.N. officials have called for extra financial ---=------ to deal with the emergency.

1) resources 2) circumstances 3) parameters 4) initiatives

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each |
| blank. Then mark your answer on your answer sheet.

Everyone brings some kind of power to the negotiating table. It’s easy to be awed (11) -=--=-— — external
sources of power and influence while (12) ------- -- such internal sources of your own power (13) -
your self-esteem, self-knowledge and confidence (14) ———------ fast on your feet. Power in a negotiation can
be very dynamic. Be patient and your own store of internal power (15) ---------- to your advantage.

1) for 2) with 3) by 4) from

1) overlooking 2) to overlook 3) be overlooking 4) being overlooked
1) of 2) as 3) like 4) about

1) you think 2) so thinking 3) to think 4) as you are thinking
1) being working 2) is working 3) is to work 4) will work
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PART C: g Comprehension

Dirfcﬁﬂns: Read the following three passages and answer the questions by choosing the best

[choice (1 ), (2), (3), or (4). Then mark the correct kair:e on your answer sheet.

Game theory is often described as a branch of applied mathematics and economics
that studies situations where multiple -players make decisions in an attempt to
maximize their returns. The essential feature is that it provides a formal modeling
approach to social situations in which decision makers interact with other agents.
Game theory extends the simpler optimisation approach developed in neoclassical
economics. The field of game theory came into being with the 1944 classic Theory of
Games and Economic Behavior by John von Neumann and Oskar Morgenstern. A
major center for the development of game theory was RAND Corporation where it
helped to define nuclear strategies. Game theory has found significant applications in

many areas outside economics as usually construed, such as ethics, political science,
and evolutionary theory.

Econometrics applies mathematical and statistical methods to analyze data related to
economic models. For example, a theory may hypothesize that a person with more
education will on average earn more income than person with less education holding
everything else equal. Econometric estimates can estimate the magnitude and

statistical significance of the relation. Econometrics can be used to draw quantitative
generalizations.

Which statement is TRUE about game theory?

1) It studies situations in which many players attempt to make their returns as small as possible.

2) It deals with cases in which many different people do their utmost to increase their returns.

3) It studies situations in which many players attempt to reduce their returns to the smallest amount.

4) It deals with cases in which many different players try to make their returns as large as possible.
According to the passage, game theory --—- -—-- the simpler optimization approach -—-----—---- in
neoclassical economics.

1) continues — changed  2) enlarges — created 3) increases — improved 4) includes — affected

RAND corporation helped ----------- role in the development of game theory.
1) to describe nuclear strategies and had an important

2) to explain nuclear strategies clearly and a minor

3) the game theory come into being and had a major

4) the game theory exist and had a basic

Which proposition is true about ‘econometrics’?

1) It employs arithmetic and statistical ways to study data.

2) It applies mathematical and arithmetic methods to analyze date.

3) It uses mathematical and statistical techniques to examine data.

4) It utilizes quantitative and qualitative approaches to create data.

What does ‘hypothesize’ in line 13 mean?

1) give a possible answer 10 a question after adequate experiment.

2) give a probable answer to a problem atier doing frequent experiments.

3) suggest a probable description for a phenomenon being sure that it is probably true.
4) suggest a possible explanation for something without knowing whether the explanation is really true.

MMQ“U,)é“}'@&)“@h%‘,)b‘uﬁpiﬂ
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The concept of value is central to economics. An observable measure of it is market
price. Adam Smith defined labor as the underlying source of value, and the "labor
theory of value" underlies the work of Karl Marx, David Ricardo and many other
classical economists. This theory argues that a good or service is worth the labor that
it takes to produce. For most, this value determines a commodity’s price. This labor
theory of price and the closely related cost-of-production theory of value dominates
the work of most classical economists, but those theories are far from the only

accepted basis for "value". For example, Austrian School economists use the marginal
theory of value.

Neoclassical economics, as in John R. Hicks's book Value and Capital, distinguishes
value (as determined on the demand side) from cost (on the supply-side), with price
determined by supply and demand. In a competitive market, supply and demand
interact to determine price and equate cost and value. Economic analysis considers
not only the allocation of output for different uses but the distribution of income to the
factors of production, including labour and capital, through factor markets.

The labor theory of value --- the work of Karl Marx, David Ricardo and many other economists.
1) emphasizes 2) 1s the major cause of  3) shows clearly the importance of 4) underlines
According to the labor theory of value, -—----—-- the value of a good or service.

1) the labor specifies 2) the employment specifies

3) the employer determines 4) the laborer determines

The labor and cost-of-production theories of value ————--.

1) are the only accepted theories for ‘value’

2) are the only approved theories as far as ‘value’ is concerned

3) dominates the work of most classical economists

4) dominates the work of most present economists

On the basis of neoclassical economics, price is determined by —~-----——.

1) value and cost 2) value and supply 3) labor and supply 4) labor and cost
Which statement is NOT true about economic studies?

1) It allocates output for different uses.

2) It includes the allocation of output for different uses.

3) It does not distribute income to the factors of production.

4) It considers the distribution of income to the factors of production.
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In microeconomic theory supply and demand attempts to describe, explain, and
predict the price and quantity of goods sold in perfectly competitive markets. It is one
of the most fundamental economic models, ubiquitously used as a basic building
block in a wide range of more detailed economic models and theories.

To define, demand is the relationship between the quantity of a product that a
consumer or buyer would be willing to buy and the price of the product. Demand is
often represented as a table or a graph relating price and quantity demanded. Most
economic models assume that consumers make rational choices about how much to
buy in order to maximize their utility - they spend their income on the products that
will give them the most happiness at the least cost. The law of demand states that, in
general, price and quantity demanded are inversely related. In other words, the higher
the price of a product, the less of it consumers will buy.

Supply is the relationship between the quantity of a good or service that a producer or
a supplier is willing to bring into the market for'the purpose of sale and the price of

the good or service.
What does the passage mainly discuss?
1) Detailed Economic Models 2) Microeconomic Theory
3) Production and Consumption 4) Quantity and Price of a Product
What does ‘it’ in line 2 refer to?
1) demand 2) microeconomics 3) microeconomic theory 4) supply and demand

Demand is frequently ----——--- ;

1) cun?tituted as a table or a graph relating price to quantity of demand
2) -_:iapmted as a graph or a table connecting price of demand to quantity of demand
3) indicated as a table relating price to quantity of demand

4) shown as a graph connecting price of demand to quantity of demand

Many economic models -——--—-- that consumers make logical choices about how much to buy so as to
maximize their utility.
1) take 1t for granted 2) think 3) believe 4) admit

The author finally concludes that supply is the relationship between ——--——.
1) the amount of a good and the price of a service

2) the amount of a good or a service and the price of the good or service

3) the quantity of a supplier and the price of the producer

4) the quantity of a producer and the price of the supplier
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